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A LAG 5 L B ARSI DA BB BR U MATLAB R0 .
%%%%%%%%%% Beam2D2Node %% begin %%%%%%%%%%%%
function k =Beam2D2Node_Stiffness(E,l,A,L)
% LA L BR BB T W LR R
AR E, BRI A, IRIERE L, KE L
of L1 LTI EE RS k(6% 6)
%
k=[E*A/L,0,0,-E*A/L,0,0;0,12*E*I/(L"3),6*E*I/(L"2),0,-12*E*1/(L"3),6*E*1/(L"2);0,6*E*1/(L"2),4*E*I/L,0,-
6*E*I/(L"2),2*E*I/L;-E*A/L,0,0,E*A/L,0,0;0,-12*E*1/(L"3),-6*E*1/(L"2),0,12*E*1/(L"3),-
6*E*I/(L"2);0,6*E*I/(L"2),2*E*I/L,0,-6*E*I/(L"2),4*E*I/L]
9%%%%%%%% % %% %% %% %% %% % % %% %% %% %%
function y =Beam2D2Node_Assemble(KK k,i,j)
% LAt bR BAIE AT B T I LR X 4 e
%o N TG NI BERERE K, BTG RR T s |
o L AR A NI B R S KK
%
DOF(1)=3*i-2;
DOF(2)=3*i-1;
DOF(3)=3%;
DOF(4)=3%*j-2;
DOF(5)=3%*j-1;
DOF(6)=3%j;
for n1=1:6
for n2=1:6
KK(DOF(n1),DOF(n2))=KK(DOF(n1),DOF(n2))+k(n1,n2);
end
end
y =KK;
9%%%%%%%% % %% %% %% %% %% % % %% %% %% %%
function forces = Beam2D2Node_Forces(k,u)
% LA bR BT ST T, BN BTN R R K, T RS U,
0% L #7075 15 /7 forces
%
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forces=k *u;
%%%%%%%%%% Beam2D2Node %% end %%%%%%%%%%%%
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(1) ZEHMEith SRS
PZ G B HON = AN TT, 1 AL S o5 Wi 2 B, A T S AR TS L
FIR S 7. 6.

(2) FAEITHRR

HEE MATLAB B3 R, S NsaMERiE E. B AL BHESE | K L, RIE5
Bt 1 FIIE 2 BT 3, 203 IR FH % Beam2D2Node_Stiffness, &t AT PAFS 3] B 56 1 HI|
FE A K1(6 X 6) A1 k2(6X6), H. 570 2 FERIT 3 1) NI EEHFEAH A
>> E=3E11;

>> |=6.5E-7;
>> A=6.8E-4;



(AR BT R ERLIER THEREIN TR B2 B

>> | .1=1.44;
>> |L.2=0.96;
>> k1=Beam2D2Node_Stiffness(E,l,A,L1);
>> k2=Beam2D2Node_Stiffness(E,l,A,L2);

(3) B EARIETE

T 2 AT 3 (I FE R B R 4 B AR AL bR T ITE 20 I TR 535 4 A5 5 T
SILRE B EEC 12, Bk, SRR Y KK(12x12), $F KKEZ, REH TR M
PR % Beam2D2Node_Assemble 47 Rl & 4E B4 (1 1 2%

>>T=[0,1,0,0,0,0;-1,0,0,0,0,0;0,0,1,0,0,0;0,0,0,0,1,0;0,0,0,-1,0,0;0,0,0,0,0,1];
>> k3=T"*k2*T;

>> KK=zeros(12,12);

>> KK=Beam2D2Node_Assemble(KK,k1,1,2);

>> KK=Beam2D2Node_Assemble(KK,k3,3,1);

>> KK=Beam2D2Node_Assemble(KK k3,4,2)

KK =1.0e+008 *

14431 0 0.0127 -1.4167 0 0 -0.0264 0 0.0127 0 0 0
0 2.1328  0.0056 0 -0.0078 0.0056 0 -2.1250 0 0 0 0
0.0127 0.0056 0.0135 O -0.0056  0.0027 -0.0127 0 0.0041 O 0 0
-1.4167 0 0 1.4431 0 0.0127 0 0 0 -0.0264 0 0.0127
0 -0.0078 -0.0056 0 2.1328 -0.0056 0 0 0 0 -2.1250 0
0 0.0056 0.0027 0.0127 -0.0056 0.0135 0 0 0 -0.0127 0 0.0041
-0.0264 0 -0.0127 0 0 0 0.0264 0 -0.0127 0 0 0
0 -2.1250 0 0 0 0 0 2.1250 0 0 0 0
0.0127 0 0.0041 0 0 0 -0.0127 0 0.0081 0 0 0
0 0 0 -0.0264 0 -0.0127 0 0 0 0.0264 0 -0.0127
0 0 0 0 -2.1250 0 0 0 0 0 2.1250 0
0 0 0 0.0127 0 0.0041 0 0 0 -0.0127 0 0.0081

(4) HFFMRIAE KRNI TTRERE

SRR R U, =V, =0, =U, =V, =60, =0. B, FEbx1i s 1 fi

R2 NI RE AT SRAR, A 1 RIS A 2 (AL AT B KK R R A TET 6 AT ATET 6 41, JUIFE A
KK(12X 12)#e i, B k, SRJEHA RO BB FIRE p, PR @il 2505307 R, 7
B MATLAB H Y BHERF S “\” Wi RH &l £k,

>> k=KK(1:6,1:6);

>> p=[3000;-3000;-720;0;-3000;720];

>> u=k\p

u = 0.0009 -0.0000 -0.0014 0.0009 -0.0000 -0.0000 [HFIHERR T 47]

(5) XRAMTE

FEAF BV LMY LA S5 oh BRI D7 R T BATH S 0 B SR 705 56k
T3 B AL A2 2 R S AL TR I A AT AL QE AL E G R), AT LS 2RI
BBIRE U@A2X1), FAREEEERRIEE T R, THEH T 1 R0 P(12X1), 4%3((3-180) X
IV N CIRYE 2P INEIE I R
>> U=[u;0;0;0;0;0;0]

U =0.0009 -0.0000 -0.0014 0.0009 -0.0000 -0.0000 L BIEER T 47]
0 0 0 0 0 0 L BIEER T 17]
>> P=KK*U
P =1.0e+003 *
3.0000 -3.0000 -0.7200 0.0000 -3.0000 0.7200 L FIHEER T 17]
-0.6658 2.2012 0.6014 -2.3342 3.7988 1.1283 [ FHERL T 17]



